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Q 1. If figure, ABCD is a parallelogram, AE 1 DC and CF L AD. If AB = 16 cm, AE = 8 cm, and CF = 10 cm, Find AD.

B

Solution:
Given that,

In parallelogram ABCD, CD = AB = 16 cm
[+~ Opposite side of a parallelogram are equal]

We know that,
Area of parallelogram = Base % Corresponding altitude
Area of parallelogram ABCD = CD x AE = AD x CF

16 cm X cm=AD X 10 cm

AD = %cmﬂZ.BCm

Thus, The length of AD is 12.8 cm.

Q2.InQ1,if AD=6.cm, CF=10cm, and AE = 8 cm, Find AB.
Solution:

We know that,

Area of a parallelogram ABCD = AD X CF - - « « .+ - (1)
Again area of parallelogram ABCD = CD XAE+- -+ -+ - - - (2)
Compare equation(1) and equation(2)

AD X CF =CD x AE

=>6x10=Dx8

> D= 6—80 =7.5¢cm

~AB=DC=7.5cm [+* Opposite side of a parallelogram are equal]

Q 3. Let ABCD be a parallelogram of area 124 cm? . If E and F are the mid-points of sides AB and CD respectively,
then find the area of parallelogram AEFD.

Solution:
Given,

Area of a parallelogram ABCD = 124 cm?



Construction: Draw APLDC

Proof:-

Area of a parallelogram AFED =DF X AP « « -« (1)

And area of parallelogram EBCF = FC X AP+ - - - - - - - - (2)

AndDF=FC «+ -« - -~ 3) [F is the midpoint of DC]

Compare equation (1), (2) and (3)
Area of parallelogram AEFD = Area of parallelogram EBCF

Area of parallelogram ABCD _ 124 _ 2
=== 62 cm

. Area of parallelogram AEFD = 5

Q 4. If ABCD is a parallelogram, then prove that
Ar(AABD) = Ar(ABCD) = Ar(AABC) = Ar(AACD) = %Ar (//F" ABCD).
Solution:

Given:-

ABCD is a parallelogram,

To prove : - Ar (AABD) = Ar (ABCD) = Ar (AABC) = Ar (AACD) = %Ar (/F¥ABCD).
Proof:- We know that diagonal of a parallelogram divides it into two equilaterals .

Since, AC is the diagonal.

Then, Ar(AABC) = Ar(AACD) = %Ar (/F"ABCD) - -+« v - (1)

Since, BD is the diagonal.

Then, Ar(AABD) = Ar (ABCD) = ZAr (/A" ABCD)* - - - - - - - - (2)

Compare equation (1) and (2)

~ Ar(AABC) = Ar(AACD) = Ar(AABD)=Ar (ABCD) = %Ar (//F"ABCD)



